Let's go do some work.

L) = F As cos !




T 's learnin lective:

By the end of class, | will be able to solve for the
angle created by two intersecting vectors.

Todav's | biective:

Magnitude
Scalar Multiplication
Cosine







4.2

Magnitude of a vector

Scalar product

Angle between two
vectors

Vector equation of a line

v-w=|v||w|cosé

VW=V W+ VW, + VW,
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4.1 Magnitude of a vector

Calculate the acute angle between the lines with equations

R,

cos (,\/ (56)
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|v|=\/vl“ +v, +v

4.2  Scalar product o v-w=|v||w|cosé

VW=V W+ LW, VW,

Angle between two VW
vectors e cosf=
|||
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38) Find the cosine of the angle between the two vectors (
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4.1 Magnitude of a vector
4.2  Scalar product
Angle between two
vectors
43  Vector equation of a line

|v|=Jv12 v, Y

v-w=|v||w|cosé

VW=V W+ LW, VW,

cosf = .4
v||w]
r=a-—+tb
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Find the cosine of the angle between the two vectors 3i + 45 + 5k and 4i — 55 — 3k.

4.1 Magnitude of a vector |v|—\/v2+v2+v2
- 1 2 3

4.2  Scalar product v w=|v||w|cosé
VW= VW + VW, + VW,

Angle between two VW
vectors cos@ =



5% i(-a 1) (-6
6 |andry=|20|+1 10 |.
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) Two lines L; and L, are givenby ry = | 4

(a) Let & be the acute angle between L; and J,. Show that cosf = m :

:"
(b) (1) Pis the point on L; whe ind the position vector of P. ls 2|2

(11) Show that P1s also on L,.

4.1 Magnitude of a vector |v|—\/v2+v2+v2 G -,L \0
== 1 2 3
-
4.2  Scalar product v-w=|v||w|cosd 2- =

VW=V W+ VLW, + VW,

Angle between two VW
vectors cos® =

|| wl
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9) Letv= [—3J and w =
6

Find the value of k.

4.1 Magnitude of a vector

4.2  Scalar product

Angle between two
vectors

43  Vector equation of a line
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Cbsqt/s =

v-w=|v||w|cosé

VW= VW + W, + VW,

cost?— —
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r=a-—+tb




4) Line L; passes through points A(1. —1. 4) and B(2, -2. 5).

(a) Find AB.

(b) Find an equation for L; in the form r = a + tb.

5 .

Line L, has equation r = | 4 |+5| 1
7 3

(c) Find the angle between L; and L.

(d) The lines L; and L, intersect at point C. Find the coordinates of C.



